
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti negativi di 10

−2 × 10 =(−2) 9 × 10 =2

364 × 10 =(−4) 8 × 10 =2

839, 8 ÷ 10 =(−4) 10 =(−1)

10 =(−2) 6 × 10 =(−2)

10 =(−4) 4 × 10 =(−1)

10 =(−1) 387, 9 × 10 =(−4)

10 =(−2) 10 =(−4)

565 × 10 =(−3) 10 =(−2)

700, 2 ÷ 10 =(−4) 1 × 10 =(−3)

10 =(−4) 205, 1 ÷ 10 =(−2)
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Esponenti negativi di 10

−2 × 10 = −0.02(−2) 9 × 10 = 9002

364 × 10 = 0.0364(−4) 8 × 10 = 8002

839, 8 ÷ 10 = 8398000(−4) 10 = 0.1(−1)

10 = 0.01(−2) 6 × 10 = 0.06(−2)

10 = 0.0001(−4) 4 × 10 = 0.4(−1)

10 = 0.1(−1) 387, 9 × 10 = 0.03879(−4)

10 = 0.01(−2) 10 = 0.0001(−4)

565 × 10 = 0.565(−3) 10 = 0.01(−2)

700, 2 ÷ 10 = 7002000(−4) 1 × 10 = 0.001(−3)

10 = 0.0001(−4) 205, 1 ÷ 10 = 20510(−2)
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